Simultaneous Egns

Exl 4 + 73 = 0,
334 A 23 = @
MHx2 8 4 ’43 = o @
&) x1 x4 14y = 49 @
@_@ 1750 — 39
= 31
—
x = 3
545 f"of X @
3(3) + 29= 9
1 + 29 =
2y = 72—
24 = -2
) -5 =3
15 = =
9= —I
4x +Sq = 23 @
0O «@ [2¢ = 24
2. = i’i x = 2

L



§ +859 = 23
!3: 23"‘X
gj; (!
- gx*
3C3 jzz
Ex Sx -2g9 = 12 O
43( -—Zj I @
O x 3 (Sx -€q =6 O
3 x2 ¥x -6y = 22 .
6 -& — % - L
x = 14
—
x_fz
9 hrx O
$(2) —24y = 12
[0 _23 = (2 X:Z
_,2_3:/2_'” 1=
—24 = 2
g = 2 4= -




E%zfcls.a_

4)  Tx+y = IX
S +23 = 14
5) Sx —dy = —15

\)

n

1))

‘\)

M\

W\

n

"

—_

)




